fiinf Briiche, Reihenfolge der Operationen mit

b D 42 - ]

it Klammern
Name: Datum: Ergebnis:
1, 1 3 3 1, 2 1, 21 1
Y+ IX ZH () = Cr Y -(=— )=
Gr+3)x3+G*7) 5+t 3G 2
3, 5 3 3, , 1
+ )Y+ +2°x == 24+ 2) 4+ = - - =
G+3) 3 2+3) 35
1, 1 1 1 ) 1 3, 1 1 )
-y - = —(=— 2y = —+(= —+(=+2)Y =
(P-%5-G- 3 GHENx3+G+3
2 1 1 3 1 2 1 1
44+ Y + 2 — - x32 = (=P )x S (=4 )Y =
@4+ 3P+ 753 G-EN*3-G+3)
1, ) 1 1, 3 3 )
+ )Y+ - x4+ - = - —(= —+(=+=)Y =
(5+ )+ % G-GH*3+GE+2)
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fiinf Briiche, Reihenfolge der Operationen mit

i Qe 2 M- |

it Klammern
Name: Datum: Ergebnis:
l, 1.3 43 11 2 1, 21 1 163
((2) Z)X 2 ( ) 16 (5 6) 3(6 2) 300
(5+§)2+§+22><E=3451=3451 (2+§)2+——32><1=@=2g
5 4 5 100 100 5 2 15 150
1, 1 1 3, 817 1 3, 1 1 3, 6457 2857
—) — — (==Y = (———— —+(= — 4 (=+ 1)y = =1
(37 =3)"37 G777 =C350) GV 3G = 350 ~ 3600
1 1 631 19 3 1 2 1 277
g2l L 6D oGP xS (=+ =P =
( ) 4 2 3 36 (2 (6)) 3 (4 ) 432
l, 1, 3 791 16 1 l,. 3 3 1, 529
5+ =)y +-x4"+—-=— =3]1— ——(=))xX =+ (=+ =Y =—
( 5) 4 5 5 25 (4 (2)) 4 (5 6) 900
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